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Direction (Q. Nos. 1 to 10) : Read the
following two passages and answer the

questions that follow each passage. Your |

_ ‘answer fo these questlons should be

based on the passages only
| Passage -1 |

|was sitting next to Missy in my ninth-grade
world hlstory class when Mrs. Bartlett

announced a new prOJect In groups, we '
were to create a newspaper around the

culture we were studying.”

On a piece of paper, we wrote the names .

- of three friends we wanted in our group.
After collecting all the requests, Mrs. B
informed us that she would take into

consideration the names we chose and .

woulld let us know the results the next day,

 had no doubt | would get the group of my

choice. There were only a handful of
sociably decent people in the class and
M|ssy was one of them. | knew we had
chosen each other

. The next day{ lanxiously awaited the class.
* After the bell rang, Missy and I stopped
talking as Mrs. B called for our attention.
She started to call out names. When she
reached group three, Missy's name was
called. So 'mingroup three, | thought. The
second, third and fourth members of the
group were called. My name was not
included. There had to be some mistake !

KB - 2A/26

Then | heard it. The last group : _f‘,M"au're,
- Juliette, Rachel, Karina.” | could feel the
~ tears wellin my eyes. How could that went

down to her ank[es and the othergirl‘who

wore weird clothes. Oh, how badly lwanted

to be with my friends.

| fought back tears as | walked up to
Mrs. B. Sh_e looked at me and knew
what | was there for. | was ‘determin(ed to

convmce her | should be in the good" '

group. “Why... 7°1 started _ '
She gently placed.a hand on my shou|der
“l know what you want, Kanna she sald

“but your group needs you. | need you to

’ help- them get a passing grade on this

assignment. Only you can helpthem.” '
I was stunned I'Was humbled. | was

amazed. She had seen something in me

| hadn't seen. TeChOfWOHd In_ |

“Will you help them 7" she asked.

Istood straighter. “Yes,” [ replied. | could’t
believe it came.out of my rnouth, but it did.
I had committed. '_ o

1. The new project was for ‘

(A) Launching a magazine

(B) Creating a newspaper for,

culture

. ©)y Announcinganewcuiturer

(D) Creatinganewspaperforfun :

- - Gontd.
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2. Mrssy was mcluded in the group of
(A) 'Mauro
(B)_" Karina o
(C) _Jullette R
(D). None ofthem
3. Karina drd hot hke her group
' because ‘ '

) (A) The girl coutd not speak Enghsh

(). She wanted to jorn Mrssys. :

group

(l"\‘

mmrsklrt

R
s

_ .4: | Theteacher Mrs BputKarlna rnthat

part:cular group because Kanna

] (A)_' =Started crymg

- (B)  Wantedto bern anothergroup :

(C) Was confused

.. (D). Could helpthe students inher

- group

5 . Karina wasstunned  because
W) Shewashut |

. (B) Herteacherhad :dentrfred her'

4 Ieadershrp potentrat

©(C) She cou!d notjornthegroupof o

her chonoe

(D) She got a passing grade .

KB “2A/26

(D) -_The othet grrl used to wear_

~

Passage -1

One mlserable rarny nrght a man named

Mark decrded to end his hfe in hIS mid-
frftres Mark had never been marrled had

never exper:enced the ;oy of hav:ng

. children or spending holidays with his.
e_ family. B"oth"his parents had been dead for

seven years He had a srster but had lost -

- contact w;th her. He held a menral JOb that
(B) The boy was shabbrly dressed o

left him unfulfrl[ed Wet and unhappy, he
walked the streets feelrng as if there was

nobody in the entlre world that cared ifhe

~wedorcied. Techofworld.In

On that same soggy nrght ] was sitting in

: my room watchrng the raln hlt my window. | -

wass six years old; and my life revolved

around. my Star Wars action figure

collection. |was dreaming of the day when

I'd have earned enough money to add

Darth Vader to my new, coilector s case.

' To help me make money, my father pald

| me to jog wrth him. Everyday, at_seven

- o'clock, we jogged together ; | |
- And everyday. Iwas frfty cents closer to
- .-getting Darth Vader ,
 When | heard the doorbell rmg, I jumped

from my chair and raced out of my roomto

'-the top of the steps My motherwas already
- atthe door '

(Turn over)




Openingit, she found hér’s_élf face-to-face

with a very disheveled-looking man with .

~ tears streaming down his face. My mother,
overcome by pity, invited the man inside,
and he sat with my parents in our living

room. TeChOfWOFIdIn

Curious, | snuck downstairs so that | could

getabetter look. | couldn’t understand what
they were saying, ‘but the sight of the .

- tumpled -man; holding. his head in his
hands and crying, made my chest ache. |
_ raced back upstalrs to my room and stuck

my hand mto my money jar. Pulling out the

Kennedy half-doflar | had eamed thatday,| -

ran back downstairs. | |
~ When | reached the door of tha living foom,‘
| walked right in. The three adults looked
atmein surprise as I,quicidy‘ made my Way
~ overto the stranger. | put the half-dollarin
his hand and.td!d him that I'wanted him to

have it. Then gave h_im_ a hag and turned

_and ran as fast as | could out of the room

and back up the stairs. 1 felt embarrassed.

~ but happy.

. Downstairs, Mark sat quietly with his head

bowed. Tears streamed down his faceas

he tiéhtly clutched that coin. Finally looking

'up at my parents, he said, “It's just that | -

thbught nobody cared. Forthe last twenty

years, | have been so alone, Thatwas the

KB - 2A/26

first hug | have gotten in—1don’t know
how long. It’s hard to be[ieve that

[

.somebody cares.

6. .. Mark wanted to end hls hfe because
| (A) . He feltextremelydejected
(B) ' His parents had died .
“(C) Hehad onlyone S|ster-
‘(D) ) H-e'wasjolaless _
7. - Thatlittle boy was fond of : |
(A) Watchingrain "
(B) Darth Vader figure /= . -
(C) Money BT
B (D). .Jogging N ' '

8 The visitorwas a :

(A) Familyfiend "

B) Robber .
(C) Needy person o
(D) Nelghbour -

9. Thelittle boy gave the wsltor hrs
A) Money_
(B) Food
(©) Toys o
(D) StarWaractionfigure

10. Why did Mark cry ?

(A) ° Hewas ih.physical pain

(B) He had not eaten for days

(C) Hewas upmarrie'd L
(D) He was greeted W|th love and
~ care |

. Contd..



~ personal.

‘ ‘skulls,
A
- ®
- ©
)

12,

 ability to

|  Aleader has the ability to influence
: others through qualities such as
—_— expertlse )

~ command of Ian_guag_e, and _the

creation of mutual respect — all of

-_'whlch require strong mterpersonal

TechohNoHd

aura
- ch_ansma
elan .

machismo

In

Interpersonal skills include the -

and manage

the emotlons motwations and .

B - behavnours of oneself and- other

'. (D).
,‘. .? .. 13.

o
(B)

dursng ‘social mteractlons or ina
social- -interactive context.

fgel | | _
read
(C) suss
viéw

Those who have lnt/erpersonaf skills

N 'durlng social mteractlons and align

"(D)

- KB-2A26

during -
@
. (B)

-théir gqals to the goals of others-

_ activities.
cohesive

collaborative
éollqcatio_nai

©)

‘concessive -

'.are able to manage their behawour :

14

®

15.

- tothe forces that .

- A

)
18,

They are able to empathize and are
sensitive to the needs of others and
the way
that others feeland behave. - |
(A) " bend S

mar B

mend

- (©)
(D)

Modern. teamwork often brings

shape

together individuals from diverse

 groups who may notshare common

but
who do -offer unique expertlse
|nS|ghts, and perspectwes.

norms, values, or

accommodations
(B) cubicles
©)

salaries -

vocabularies

E-mail, voice mail, audio conferen-

.cing and video conferencing, and the

myriad other technologies that
enable individuals to communicate

_ with each other not only increase the

)

“sensitivity to the

©

ways in which individuals can interact
but also require a heightened

_ interpersonal interactions.

Ay
(B)
©)

innuendos
naivete -
nuances

repartee

 (Tumover)




17 ThlS |dea is partlcular[y true in the

18.

worlds of virtual learning and vrrtual-

communication, where ene cannot

yet use hand gestures,‘rfacial

_expressions,orbody - to

fully express ideas.

(A) language

(B) movement

(C) poses |

(D) pdsiti'onsr |

The challenge is to
persona! skills notonlyin face-to-face

lnteractlons butin wrtua[ mteracttons

 aswel Techofworld In

- (A), perfect

19,

(B) perform

- (C) prodllc_e'
(D) prdject

As the police saw the 'a'cc':ident"

themselves, the drlver avmded the

— of havmg to glve a

: detalled report.

(A} need

(B) requirement.

r

(C) indictment

(D} necessity

KB ~ 2A/26

inter- . .

20,

21.

22,

It's a complete waste of time.

*_‘over whowas to blame, -

the main thing we have to do is
~ decide what to do next.

’ (A)  arguing

(B) d'iscuésing'
(C) repeating
(D) considering

It was easy to realise why the.

- machlne had stopped working since

it was a dlrect of his

‘ falluretomalntam if.
‘(A) Complement
'(B) -Cohcém A

- (©) Consequence

(D) Conviction

| am completely confused as to why

' she did it'and soit's n‘oi

to |mag|ne why other people are . |

| mystlf[ed too |

(A) defi mte |

“(B) difficult’
" (C) debatable
(D) decided

'Cohtd.




23.

‘24.‘

28,

I have great

for them at

‘ th:s tlme because | have had a smiar

experience.

(A) sincerity -

. (B)_ sympathy

" (€) sdrré)w"

' (D) “_.sadn_ess

Many of the people in the crowd
were visibly crying b-ecause.they all
_ with those who had lost
ré‘latives' inthe d'isastef. | |

OB resented

(B) regretted

'(C)' rejoihed R

(D) ‘ “sympathized

Atailor had & number of shirt pieces

to cut from aroll of fabrlc He cut each.
... Toll pfequal fength mto10p|eces. He
cut at the rate of 45 cuts a minute. -

- How many rolls would be cut in 24

minutes ?

(A 32rolis

(B) 54rolls

" (C) 108rolls

(D) 120rolls

KB .= 2A/26

26,

Today is Varun’s birthday. One year -
after, from today he will be twice as

- old as hewas 12 years ago. How old

TeChoﬁNoHdIn

is Varun today '?
A 20 years )
(B) 22years

(C) 25years

= (D) 27 years

27.

28,

Ayush was bdrn two years after his
father’s marrlage His mother | is five
years youngerthan his father but 20 .
years older than Ayush who is 10
years old. Atwhat age d;d the father

! get marrled ?.

,‘(A) 23years_‘
(B) 25years BN

(©) 33 years
(D} 3Syears

In .thr'ee coloured .boxes — Red,
Green and Blue, 108 balis are

" placed. There are twice as many

balls in the green and red boxes

“combined as there are in the blue box

and twice as many in the blue box as
there are in the red box, How many

- balls are there in the green box ?

(A) 18

(B 36

(©) 45

(D) None of these

(Turn over') '




“ him. His father was 28 yeare of age

" when his sister was born while his

30.

(D)

mother was 26 years of age when he

was born. If his sister was 4 years of

- were the ages of Ravi's father and

mother respectwely when his brother

(B) 32 years, 29 yea_r.s~

(C) 35years,29years = -

35 years, 33 years

“Ina class of 60 students, the number

of boys and girls participating inthe

© 29. Ravi's brother is 3 years senior to

- age when his brother was born, what

~

-annual sports is in the ratio 3:2

respectlve[y The number of girls not |

than the number of boys not

B} partlmpatmg in the sports is 5 more .-

partlmpatlng in the sports. lf the

- number of boys part:cnpatlng in the -

. sportsis 15, then how many girls are -

(D)

KB 2A126

there inthe class ? -

(A 20
® 25

(C) 30.

Data madequate

31,

- was born ? TeChOfWOfld In )
A 32 years 23 years -

33.

LA
®
(©
©

if you write dde all the 'numbers-- ,

" from 1 o 100, then how many times

do you wnte 3 ?

(A 11

(B) 18

(C) 20

o 21

‘Choose the missing ferm out of the -

B

given alternatives :

ADVENTURE

VENTURE -
VENTUR
DVENT

DVENTU

_'How many pairs of letters in theword
‘CHAIRS’ have as many letters -
'between them in the word as in the _‘ |

- alphabet ?

® 2

B 3

- (8)

© 1
(D) 4

Contd.

DVENTURE‘
' DVENTUR, 2, VENTU.
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34.

35.

@

Choose the mlssmg term out of the
'gaven aiternatwes '

ejo, tyd, ins, xch, 7 |
(A) . mw
(C) nsx
D)

nsw

In the following quéétion, various

~* are given with one or more terms
missing as.shown by (?). Choose the

-terms of an alphanumerical series

missing term 'out of the given -

rod altematlves

36.
_ terms of an alphanumerical series '

. (B)

3F,6G, 111, 18L, ?
27Q
27P
25N
210

Ay

(C)
(D)

In the. foltowmg question various

. are given with one or more terms

o 'miésing as shown by (?). Choose the

(B) .
- (©)
(D)

“"missing term out of the given

alternatnves N _
- BMO, EOQ HQS ?.

KSU

sov

- SOW

LMN

(A)

KB -2A/26 -

37

TééhoﬂNoHth

39.

A

O
38,

(©)
- D)
(9). j

In the following question, various
terms of an alphanumériCaI,séries :
are given with one or more terms
mi’ssing as shoWn by (?). Choose the

mlssmg term out of the glven

' altematlves

P3C, RSF, T8l, V12L, 2
XM
X160 -
X170
Y170

(B)
(©)

What will be the next term in the )

followmg seraes ?

| BKS, DJTFIU, HHV__'
@

e
16X
JGW
JGU

®
(C)
(D)

In the following question, various
“terms of an alphabet series are given
with one or more'terms missing as

“shown by (?). Choose the missing

term out of the given altérnatives :
A.B,N,C,D,0,E F,P?727?
A GHQ

B) J, K, L

G,'H,J

GH.I

| '(Tum_over)‘ _




D’it_'é'ction { Q Nos. 40 -to 44) :

following line graph gives the-ratio of the o

The

amounts of impon‘s by a c_ompény fo i‘he

~ armount of exports from that company

over, the penod from 1 995 to 2001

Ratio of Vaiue_ of ‘Im_ports to Expo‘rfs by a

~ Company Over the'Years :

TechoﬁNoHdIn

41.

(D)
42.

The |mports were mlnlmumf

proportlonate to the exports ofthe

| company in the year

®
®)

1995
1996
1997

2000 -

‘What was the-percentage increase

in imports from 1997 to 1998 ?

Ay 72

B 56

| (D)j

(C) 28

‘Data inadequate

fthe imports of the company in 1996 R

'_was Rs. 272 crores, the exports from -

the company in 1996 was ;
(A)
(B)

Rs. 370—crores :

Rs.'32_0 crores

©

©)

Rs. 280 crores

Rs. 275 crores

s DRV ) 553
;; 195 /.\ T S/
12 RN Wi
by 7
! ‘ 7 A4
09 085 . /' : — Y095
S oRE 7 N7
bt R S
05 - N
04 AW
05 _ ,"o 35 S
0.2 s - - L
0.1 fe——ip { 43,
: 1995 1996 1997 1998 1899 2000 2001 :
Years
40. Ifthe imports in 1998 was Rs. 250
crores and the total exports inthe
.- years 1998 and 1999 togetherwas .
‘Rs: 500 crores, then the lmports in.
1999 was ;- 44,
(A)‘ Rs. 250 crores
(B) Rs 30_0 crores
(C) " Rs. 357 crores . R
(D) BS._420 crores |
KB -2A/26 (10) -

_Inhow mahy ofthe given years were

'the exports more than the'imbdrts ?
(A) 1 -: o ‘

(B) 2

©) 3

@ 4

| Contd. -



birebtion (Q. Nos. 45 fo 48) : A School has four Sections — A, B, C, D of Class IX .
students The results of half yearly and annual examinations are shown in the table

given below. - Techofworld. In
Resuit No. of students
Section-A |Section - B |Section -G | Section - D
Students failed in A | | '
both the Exams. 28 23 17 27
Students failed.in
Half-yearly but
~ passed in Annual ‘
Exams | 14 12 8 13
.Students passed in
Halif-yearly but failed
in Annual Exams. 8 17' 9 15
- :'-S'tude'n'ts passed in
both the Exams. 64 55 46 76
If the number of students paséing an (C) Both the examinations had

- 45.

KB — 2A/26

‘examination be considered a

criteria for comparison of difﬁcu[ty_’
level of two examinations, which of

the following statements is true in

_ this context ?

48,

; almost the same difﬁcdlty fevel.
(D) The two examinations cannot

be compared fordifficulty level.

How many students are there in

Class 1X in the school ? . .

(A) Haif year[y examinations were (A) 336
* more difficult. - | ®) 189
(B) Annual examinations were- ©) 335
more difficult. D) 430

(11)

~(Tumover) -




1

47. Which Section has the maximum

48.

49,

' KB - 2A/26

pass percentage in at least one of

the two examinatio_ns ?

“interchanged: for making folldwing_

equation correct ;

5+43x8~12+4=3

(A +and—

B) —andA
(C) +andx

(D) +and A

50.

(12)

Find out the wrong term in the series : |

2;5,10,50,500,5000

o (A) 5000
-(A) A Section -
o (B) 500
(B) B Section o
o : (C) 10
- (C} C Section o
(D) D Section-. - _ 7 .(D) 50 - ‘

o Techofworld.In = _
Which section has the maximum’ 51. F'"d the missing number in the -
success rate in annual exami- ‘series !
nation ? 1,2,3,10,7,9802
) A Section @) 99 o
(B) B Section o

(B) 199
(C) C Section - _
| (©) 209
(D). D Section S
| (D) 999
Find out the two signs to be o o
52. Find the wtong number in the

‘series:

' 3,8.15, 24, 34,48, 63

(A) 15

- (B) 24

C) 34

(D) 48

. Coﬁtd.'



53 Choose the mrssrng terms out ofthe .

_grven alternatrves
F zsworKoegz
'_.(A) N,D
VL(B) NG
- 7_(0) o, D 'f o

; -(D) -_o-,,c-

g 54 . In the followmg questron varrous

| terms of an alphanumerrcai serres. |

'-are grven wrth one or more termsr ;‘ ":i.‘: |
mrssrng as shown by (?)- Choose thej;— . .7 o

mrssmg term out of- the grven"_'""

e atternatrves TeChOfWOI‘ld In(B) ccba

: _-_'__:225 ™1, 14xg 28W11,34V13,7
: (A) 47u15
@ -47v14
':.(o) 45u15
’1 .:.'(D) 27u24

. 55 .._.Choosethe mrssmg term out ofthe..’f_:l_:_;_:._._ Sl

B grven alternatrves
o _-?'ATTRIBUTION
- .:-RIBUTIO 1BUTI

KB '-2A'/_2fé' e

'..f(B) UT

S :'(D) rm

56, 'In the followmg questron al

o grven in the proper sequence as

f’(e) aacb

TTRIBUTIO : .

L© IUT

o serres 1s gwen rn whroh some letters -~

| are mrssrng The mrssmg lette:

‘of the alternataves Choos the"-";’:.!fi—-'
o Q",[r@?t %'_t?.f ﬂa_t:rv_e-. L
i b__ba_.basacb_cm

';(A) bbca

- (C) cbac

A ‘_ChooSe__'the-'frtjissing termoutofthe o

. givenaltematives: -




@ TS

In the following question, various . -

~ terms of an alphabet series are given
“with one or more terms missing as
. “shown by (7). Choose the missing

: term outof the given‘ alternatives :

' AZ,GT,MN,?,YB

(Bj _SH
@ K
~ - Techofworld.In"

.- The two trains are running in same

- diréation at 90 km/hr and 60 km/hr

R réepeetively The faster train crossed

L - a passenger s&tttng in the sloWertra:n

' m 27 Seconds The ]ength of faSteI'

0 trainist-

(A) 220meters

S (B) 200meters

60.

g *'-Z(C)._ 157 meters
D) 225 meters

Aman can row aboatat 4.5 km/hrin

- _still water to a certain upstrearﬁ point

- and can row back to the starting point

in ariver flowing with 1.5kr/hr. The

average speed dunng the total

;oumey is

(A 2.4 kmihr

- KB I2A/26

(14)

(B) 4km/hr’

(C). 3.4kmihr

© (D) Skmr

61.

Thereis aleak in fhe bottom of atank.

‘Before the leak, it could be filled in

four and half hours. After leak it takes

half an hour longer. If the tank is full,

‘the leakage willempty the-tank in v

A '4.5 hotirs

E J(B) 25 hours

62,

(C) 28hours :

(D) 8 holirs

[ YN

A, Band C enter into arpartne'rship
A mvests 3 tlmes as much as B _
invests and B mvests two-thlrd of "

. -what C invests. At the endofthe year

the proflt earned is Rs 6 600. The

| _share of Bi IS

®) Rs.j2,1oo_ |

(B 'Rs.1,200

(C) Rs. 1,500

(D) Rs 3, 160

Centd.




Ll

63 Simple lnterest on a certam amount .
is 9/16 of the prmcipal amount Ifthe -
number representmg the rate of

_ lnterest in percent and time in years

be equal; then time for which the = -

prmcipal amount is ient outi IS
(A) 15 years )

(B) 7vyears

(C) 152years -

(D) -15/4 years

. (©) Thedataeitherin () or il alone

are sufficient to answer the

questton

() The data in both (I) and (1)

.65,

together are _suff,lclent to -

answer the questian B

Who is the immediate right of P

among the five persons P, Q, R S

SR a’ndeacing North?

Direct:on Q.. Nos 64 & 65) Eac’hi _’_: E

question given below has a problem and - e

four given a!tematfves A B, Cand D

thatis needed to answer the questfon

- 64 Whatis the monthly salary of Alok ?-

‘_ KB—2A26

Statements : Techofworld In

(!) Alok gets 15% more than ‘Sumit

while Sumlt gets 10% less than

Raman.

() Raman’s> monthly salary is -

Rs. 2,500. -

(A} The data in (!) alone are .
sufftcnent'-vto'?—_ answer the .~

-question. -

suff:ment to answer the. :

question

' Statefnents

. R '(I) Rlsthll’d to the Ieft on andPls .
two statements_numbe(eq 0] and (II)_.gMng R :

- certain information. You have to decidef‘ L
'whether the data prowded in thef'.'. S
o ‘statements are suff:c;ent to solve the

- problem. Select the oomectone outofthe -

second to the rlght of R.

B ,(1!) Qistothe |mmed|ate left of T who '

is second to the right of P

(A) The data in (1) alone are
| sufﬂment while the data in ([I) |
alone are not sufftc:lent to

answer the questlon
B) The data in (Il) alone are
: sufficient: while the data in (1)
'alone are not sufﬂc:ent to

' answer the question
(C) The data eitherin (1) or (Il are "
" sufficient to answer the

" question’

(B) The dato in =(I'i)':ol-o-ne a.r.e"l":?-"- ::-":V(D)' The data in both ® aod_(lli) are

sufficient to answer the

'_ question




. so
|00}

' ;,‘;Dire'ct_ionl(q. Nds_. 66'& 67) : S_tud}('the.

following line g'rapﬁ f that shows

" - Human Resource Indices of an

;organrsat:on for the g.lven years and_

: _answerthe quest:ons N

- fesor

. [200F—

50

| gb—

S110

2003 2004 2005 2006 2007 2008 2009

66 “The mdex in 2008 was what percent
'-ofthatmzoosv R

‘10
B 150

CE I
RCH- T

| 67 | -, V\:Ih'.alt'-is the q:;;pr'oxihate ;élue ofthe
| ayerégeindex?. B

-‘ (A) 130

®) 150
f(C)} 100
(D) 140
KB 2A/26
R

:'.,‘Direct:on (Q No. 68 & 69} The ‘
followmg hne graph dlsp.‘ays Annual _
Dlwdends offered by two compames )

M anq‘_ N over. different years. Studyl" |

- the graph carefully and.answer the

questions..

—4—Company M —i—Campany N ~
20 = \\ .

25

5

2008 2009 2010 2011 2012 2013 2014 2015 2Q16

*'Techc)fvvorld I
68 Swati mvested Rs. 35 000 in

. i <30
_company N i n 2011 After one year

shetran,sferred theentireamountwith o

' ,dlwdend to company M in 2012 for

: one year What amount: will” be

recelved back by Swati tncludmg |

"dividend ?
(A) Rs.49,000 ' .

(B) Rs.49,980

"~ {C) Rs.48,300

(D) Rs.49,563

() . Cond.




'[eceived ‘has the 'amo__unt'-be_en_

'.in'«'ested'it:1lc;()énma.ﬁy-M ,? '__‘ ' | ‘
(A) ' Rs'._'1,640_m-¢;r:¢-.v_f.- [
i -, _(?) Rs. 1,640less’ :

o e

o (D)"'Rs', 1'.,680..Ie'ss."_' o

- D:agram reﬂects expon‘s of tea and,_

. d.'agram and answer the quest.'ons

3 - ito
|

100

13H70“—159jﬁ°- H
- |1 excessive hours of Iabour In the earliest

2010 201 2012 2m3 - 2044
- Toall [Coffee - Lo

CKe-2ae ()

- 69. In the .year;'-20'14' .Suraj ‘inves't'ed'"_ * 70, What was the percentage increass in

S

- Rs 56 000in companyN Howmuch-‘ o _?».7'-the'e"p°_r_? ofteain 2014 ffom that n
| 20107 » _' L,
moreorlessdlwdend would he have ey ' :

@ 90, o
(B) 40
L © 2

"’i"(D) ‘ 35 o

. _'oirecuon (Q. Nos. 7110 75) Read the

. : ‘foﬂowmg passage and answer the g given
. fi;’quesnons Tech ofwo rid. | n

B .:-,',"—There are two anc;ent evuls that science,

_Directfon (Q No 70) ThefollowmgBar, : unw;sely used may mtensnfy they are

‘ tyranny and war But I am concerned now

o ooffee (in tonnes) for the years 2010 ",Aratherwnh p[easant possmlhtiesthan wnth _

. q

' - "unpteasantones
) 2011 2012 2013 and 2014 Refer the S

“ Science can confer two kinds of

_ - benefits it can diminish bad things and it

- ‘éoo‘ e o || "can mcreasegoodthmgs Letusbegmwnth
W0y S M ot e Smence can abollsh poverty and

N human communlttes before agncutture

s ":—each human mdlwdual reqwred two or

. (Turn ever)r




‘more square ‘miles to sustain life.

T R . &
‘Subsistence was precarious and death’

from 'starv'ation_ must have been frequent..

At that stage, men had the same mixture _

of misery and cafefreeenjoyment as still

‘makes up the iivea of others animals.

Agriculture was a technical advance

ofthe same kind of importance as attaches

to modeérn machine industry. The way that

L
SN

~ agriculture was used is an awful warning

to o'ur"age It introduced siavery and

- serfdom human sacrtf[ce absolute.

monarchy and large wars Instead of o

ralsmg the standard of life, except for a tiny
. goveming minority, it merely increased the

Ppopulation. On the whole, it probably

73,

increased the sum’of zh'uman mieery Itis

‘not possible that |ndustnai|sm tay take the

main focus of the article ? .

A- (A) 'Ty[annyandWar”

(B) Pleasant possibilities of
‘s_ciencer | | |

KB — 2A/26

72.

©

The, ability of science to

 diminish bad things
).

‘The .ability' of 'science to

. o/
increase good things

According to the arfic[e human

belngs can Iessen the quantum of -

labour if they went back to:

A

(B)

(Cy

o

, Pre-agnculture;days‘ .

If they adopt agfr'ioultural

economy

Use the benefits of science

wisely

None of the above

WhicI? of thefollowing statements'is

- true?

o

~ samecoufse. Techofworld In
- 71. Which of the fo[lowmg is NOT the

ey

iy
(©).

@

“The condition of human beings _

" has bee.n're"duoed tothe status

of animals during the modern

- age of machine industry

Industrialism introduces slavery

_AgriCu!ture was A technical

advancement upon mdustnahsm

None of the above

Contd.




74. Agrarian econ'o'my increased the .

* sum of human misery because :

"(A) You have to indulge in the o

practice of human sacrifice to -

increase the outpqt- '

(B)' itwas not used wisely

'(C)i-“_lt resulted rin'pepu[ati'on ,

“explosion

7 (D) None of the above

75. " Which of the fonowmg is NOT -

. mentloned in the artlcle ?

(A) Human beings enjoyed the
" same kind of pleasures and .

suffered the same kind of_

-~ misery like the animals_ during

‘pre-agrarian economy

(B). Agricuiture raised the standard:

of the life for'sofhe ‘hui‘nan'r

beings

- (©) Agrarian econdnﬁy is more

- scientificatfysadva'hced than

pre-agrarian economy

KB -2A/26

L (19).

(D Industrialism will lessen human
misery because it is
| accompanied‘by demoacratic

form of govemment

TechoﬂNoHdIn

Direction (Q. Nos. 76 to 80) : : Read the

followmg passage and answer the._ |

| questfons gn/en below,
g Harhes's_ing the_ immune system to figh_t
. cqn’éef, long- a medical dream, is

* becoming a reality. Remarkable stories of

."fonours melﬁn'g away and terminal-illness
gomg :nto remlssmns that Iast years -
backed by soiid data — have Ied to an .‘
explosion of .ln_terest and b||i|lqi;1.s of dot[ers

of investments in the rapidly gtowing field

L of immu’hdtherapy. Pharmaceutical

 firms, philanthropists and the U. S.

,goVernmerit-"s “cancer moonshot”

- program -are pouring money into .

de{/eldping treatments.

~ “*conferences on the topics are packed.

(Tum oﬁer-) "

_M’edfc'a[_ o




Hundreds of clinical trials invct\'f"ing“",: '
,|mmunotherapy, alone or combmed wrth -
other treatnients, are underwayfornearty__" radlatron has IeftthefonnerPresrdentwrth N
~ everytype of cancer. .

cells, tissues and biocherntcals_th_e:j'(.'

 cancer often finds ways to:hid‘e fr'orn' the
immune system or blocks lts abllltytof ght (A) j-'ca,{g,erig'é \',en', dang.ercns;
Immunotherapytnes to hetp the |mmunej‘_ RN 7
_ _'system to recognlze cancer as a threat, -_ .
and attack it. A widely used type of U T o
oo person like Jimmy Carter the
- |mmunotherapy mvolves drugs that free_ |
_ immune ce!ls tofght cancer by blcck!nga-_.__-'_'_
mechanr‘sm_'—;‘-,cal[ed a checkp_omt_ —-.th_at | '_i K
cancer_uses' tc'shu_t down the irnr'nu:ne-' |
system. 'I;hese:drUQs, catl_ed che_ck_p:ci_nt-j L
_inhibitors, have. bee.n ar)'prorre:d'by the .
Food ,an,d. Druig Adrnin‘istrati_o_n tc'. treat o
| advanced rn'e_lanorna, Hodgkinlyrnphcrna
_and cangers of the"lung-, ki'dney'and' o
bladder. More drugs inthis class are in the':_'

prpelme Patlents are clamourmg for- T

'checkporntdrugs mclud;ng one, Keytruda

)

. KB - 2A/26 .

known to manyas “thatermyCarterdrug o

| _whlch combmed wrth surgery and -

‘ T | ‘:r'no S|gn of recurrence even though o
- Theimmune system —a networkof -~ :
o e melanoma had spread to hrs Ilver and -

'-*fbram Techofworld In

secretlel _— defends the body‘agatnst“;_', ‘

viruses, bacteria and other invaders. But |/ 76  Which ofthe f°“°W'“9 St?‘te“‘e“ts s

-_true? o

~ spare ‘even a very. powsrful

: . -States

R (B) '. _::There isimpro\."ement incancer

$

- _,;dollars are belng poured mto

o r_es_earch

(©). If méianorﬁa'_st)reads_to liver

- recurrence of cancer

_'-.'__: . (D) _.__N_one_of the above

| “dise'ase- because it dées not.
former Presrdent ofthe United

| j:'treatment because. bllhons of -

and “brain, there will be no -




77..

78,

(A Isa phllanthroplc initiative- by
Keytmda Is. TeCh OfWO rld In Us government _
T (A) A partrcular type of drsease o (_B)_ —,|S spons’ored by pharma-
' with which Jimmy: Carter was i B ceuttca[ firms to hold medical
 suffering from - ‘conferences on immuno-
C ‘ : o I . therapy
.. .-(B) - The name ofadrug thatis used o
e _ e : (C) Channehzes Tesources. mto
. to treat cancer-patlents ' T '
- o researchonthedevelopmentof
(C) Another version Of HOko'n - cancer treatment through /
Y umphoma o 1mmunotherapy
" (D) - None ofthe above (D) - None ofthe above,r_,
lll_.ll-i!:i--l'Il'll P,
KB=2A/26 21) (Turn over)

' popular because:
- (B)

© F

Checkp_cint_‘drugs have .becerne_ very “ :
(A) They nuillfy cancersattemptto .
‘shut down the i immune system '
Y6t do not have to suffer the
- pain of surgery and radiatiOn :
| durrngtreatment . .

Food and Drug Admmrstratlon B :

has approved i tsuse o

©) 80,

None of the above |

,_ 79;“_
‘(A) Marks the end of human o

©

,Immunotherapy

dependence on drugs durmg

-+ cancer treatment

- ®

Augments the abllrty of human

‘immune system to fi ght cancer .
Coells -
Creates checkpornts agarnst
. cancercells

.'(D) Noneoftheabéve "

_ .-'Cancer moonshot’ program:

)
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Contd. -
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